
Mk{efhýLkk {wÏÞ yLku ÔÞkÃkf Wfu÷ þku½ku : tan 3x =

Mk{efhýLkk {wÏÞ yLku ÔÞkÃkf Wfu÷ þku½ku : sec x =  2

Mk{efhýLkk {wÏÞ yLku ÔÞkÃkf Wfu÷ þku½ku : cot 3x = -

Mk{efhýLkk {wÏÞ yLku ÔÞkÃkf Wfu÷ þku½ku : cosec x =  – 2

1.

2.

3.

4.



Mk{efhýLkkt ÔÞkÃkf Wfu÷ {u¤ðku : 2 sinq +  1  =  0

Mk{efhýLkkt ÔÞkÃkf Wfu÷ {u¤ðku :
1

cos 3
2

q = -

Mk{efhýLkkt ÔÞkÃkf Wfu÷ {u¤ðku : sec 2q =

Mk{efhýLkkt ÔÞkÃkf Wfu÷ {u¤ðku :
3

cos
2

-
q =

Mk{efhýLkkt ÔÞkÃkf Wfu÷ {u¤ðku :
1

sin
2

q =

Mk{efhýLkkt ÔÞkÃkf Wfu÷ {u¤ðku : cosq = –1

Mk{efhýLkkt ÔÞkÃkf Wfu÷ {u¤ðku :
1

sin 5
2

q =

Mk{efhýLkkt ÔÞkÃkf Wfu÷ {u¤ðku :
3

sin 0
2

q =

Mk{efhýLkk ÔÞkÃkf Wfu÷ þku½ku : cos  4x =  cos  2x
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Mk{efhýkuLkku ÔÞkÃkf Wfu÷ {u¤ðku :
2

tan (1 3) tan 3 0q + - q - =

Mk{efhýkuLkku ÔÞkÃkf Wfu÷ {u¤ðku : tan q +  tan 2q + tan q × tan 2q =  1

Mk{efhýkuLkku ÔÞkÃkf Wfu÷ {u¤ðku : 2 sin2
x + 3 cosx +  1  =  0

E10) Mk{efhýkuLkku ÔÞkÃkf Wfu÷ {u¤ðku : sin q = tan q

Mk{efhýLkk ÔÞkÃkf Wfu÷ þku½ku : cos  3x +  cos x –  cos  2x =  0

Mk{efhýLkk ÔÞkÃkf Wfu÷ þku½ku : sin  2x +  cos x =  0
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Mk{efhýLkk ÔÞkÃkf Wfu÷ þku½ku : sec2 2x =  1  –  tan  2x

Mk{efhýLkk ÔÞkÃkf Wfu÷ þku½ku : sin x +  sin 3x +  sin 5x =  0

Mk{efhýkuLkku ÔÞkÃkf Wfu÷ {u¤ðku : 4 sinx cosx + 2 sinx +  2  cos x +  1  =  0

Mk{efhýkuLkku ÔÞkÃkf Wfu÷ {u¤ðku : sin 3a =  4 sin a sin(x + a) sin(x – a)

Mk{efhýkuLkku ÔÞkÃkf Wfu÷ {u¤ðku :
2

tan tan tan 3
3 3

p pæ ö æ öq + q + + q + =ç ÷ ç ÷è ø è ø

Mk{efhýkuLkku ÔÞkÃkf Wfu÷ {u¤ðku : 4 sinx sin  2x sin  4x =  sin  3x
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Mk{efhýkuLkku ÔÞkÃkf Wfu÷ {u¤ðku : sin  2q +  sin 4q +  sin  6q =  0

Mk{efhýkuLkku ÔÞkÃkf Wfu÷ {u¤ðku : 2cos2 q +  3sin q =  0
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